EXHIBIT B

1 POMERANTZ LLP Jennifer Pafiti (SBN 282790) 2 1100 Glendon Avenue, 15th Floor Los Angeles, CA 90024 3 Telephone: (310) 405-7190 Email: jpafiti@pomlaw.com 4 Class Counsel 5 6 7 8 UNITED STATES DISTRICT COURT 9 NORTHERN DISTRICT OF CALIFORNIA 10 SAN FRANCISCO DIVISION 11 12 CHRISTOPHER L. SAYCE, Individually CASE NO.: 20-CV-00076-SI and on Behalf of All Others Similarly 13 Situated. CLASS ACTION 14 Plaintiff, DECLARATION OF OMAR JAFRI ON BEHALF OF POMERANTZ LLP IN 15 SUPPORT OF CO-LEAD COUNSEL'S v. MOTION FOR ATTORNEYS' FEES AND 16 FORESCOUT TECHNOLOGIES, INC., et. LITIGATION EXPENSES al. 17 Judge: Hon. Susan Illston $1-17^{\text{th}}$ Floor Defendants. Courtroom: 18 December 5, 2025 Date: 10:00 am Time: 19 Trial Date: None set 20 21 22 23 24 25 26 27 28

JAFRI DECL. ISO MOTION FOR ATTORNEYS' FEES AND LITIGATION EXPENSES CASE No.: 20-CV-00076-SI

I, OMAR JAFRI, declare as follows:

- 1. I am a partner in the law firm Pomerantz LLP ("Pomerantz"), which was appointed Co-Lead Counsel in this Action. I have been personally involved in the prosecution of this Action, and have personal knowledge of the facts set forth herein. I would testify to those facts if called to do so.
- 2. I and other attorneys (as well as non-attorney timekeepers like paralegals) contemporaneously record time and expenses in Pomerantz's accounting system. Such time and expenses are allocated in Pomerantz's accounting system on a case-specific basis, and I believe accurately reflect the amount of time spent and litigation expenses incurred by Pomerantz to date.
- 3. Pomerantz's accounting records confirm that Pomerantz has expended the following hours and lodestar prosecuting this Action through October 2025:

Total Hours and Lodestar

Lodestar			
NAME AND STATUS	TOTAL HOURS	RATE	TOTAL LODESTAR
Joshua B. Silverman (P)	136.00	\$1,150.00	\$156,400.00
Jeremy Lieberman (P)	130.00	\$1,375.00	\$178,750.00
Alex Hood (P)	45.20	\$1,050.00	\$47,460.00
Omar Jafri (P)	3,425.65	\$1,050.00	\$3,596,932.50
Brian O'Connell (OC)	1,415.90	\$800.00	\$1,132,720.00
Adam Jiang (A)	148.10	\$550.00	\$81,455.00
Dean Ferrogari (A)	20.00	\$550.00	\$11,000.00
Diego Martinez-Krippner			
(A)	234.60	\$650.00	\$152,490.00
Jessica Dell (A)	1.50	\$750.00	\$1,125.00
James LoPiano (A)	44.94	\$600.00	\$26,964.00
Jared Schneider (A)	1.00	\$510.00	\$510.00
Michael Krzywicki (A)	52.20	\$425.00	\$22,185.00
Genc Arifi (A)	794.90	\$650.00	\$516,685.00
Alexander Blisko (PA)	18.70	\$450.00	\$8,415.00
Garth Lewis (PA)	543.00	\$465.00	\$252,495.00
Kathy Frerichs (PA)	1,842.55	\$495.00	\$912,062.25
Karina Trevino (PA)	1,667.00	\$495.00	\$825,165.00
LaKeith Hoskin (PA)	314.00	\$495.00	\$155,430.00
Morgan Celik (PA)	2,713.50	\$495.00	\$1,343,182.50
Thomas Garrette (PA)	438.00	\$495.00	\$216,810.00
James Flores (PA)	3,499.50	\$465.00	\$1,627,267.50
Paul DesHotels (PA)	2,168.70	\$465.00	\$1,008,445.50
Jack Lo (PL)	39.50	\$365.00	\$14,417.50
Simon Hall (PL)	0.70	\$375.00	\$262.50

JAFRI DECL. ISO MOTION FOR ATTORNEYS' FEES AND LITIGATION EXPENSES

CASE No.: 20-CV-00076-SI - 1 -

Jessie Huang (PL)	0.50	\$110.00	\$55.00
Total:	19,695.64		\$12,288,684.25

(P) – Partner; (OC) – Of Counsel (A) – Associate; (PA) – Project Associate; (PL) – Paralegal

- 4. The above tabulation does not include time related to the preparation of a fee request. The above time expenditures relate to time spent on activities reasonably necessary to prosecute this Action. The above hourly rates are the standard rates currently charged by Pomerantz for each timekeeper (or if the timekeeper has left Pomerantz, the rate at the time of his or her departure) and reflect the amounts that I believe the designated timekeeper could secure if paid on an hourly basis, after considering: (a) hourly rates approved by courts in other securities cases; (b) public reports of hourly rates charged by defense firms that participate in securities litigation; and (c) the experience and pedigree of each timekeeper.
- 5. Pomerantz's accounting records confirm that it incurred the following litigation expenses, none of which has been reimbursed to date. Pomerantz incurred a total of \$2,159,479.66, which includes \$6,500 in anticipated litigation expenses associated with the remaining activities in this Action. They are broken down as follows.

Expert Fees	
	\$1,373,730.13
Mediator fees	\$13,852.00
Private Investigator Fees	\$38,111.93
Deposition Related Costs, including Court Reporting, Translation, Videography, Witness and Process Service Expenses	\$452,161.74
Database Charges for E-Discovery	\$105,063.83
Press Releases	\$2,115.36
Filing Fees	\$2,553.05
Clerical Overtime	\$721.54
Travel, Lodging & Meals	\$115,939.58
Database Charges for Legal and Factual Research	\$49,589.98

	1
	2
	3
	4
	5
	6
	7
	8
	9
1	0
1	1
1	2
1	3
1	4
1	5
	6
1	7
1	8
1	9
2	0
2	1
2	2
2	3
2	4
2	5
2	6

27

28

Total	\$2,159,479.66
Court Transcripts and Telephone Charges	\$569.13
Photocopies	\$4,023.43
Postage	\$1,047.96

- 6. The expenses incurred are reflected in the books and record contemporaneously prepared by the firm.
- 7. Included in the electronic database entry are charges incurred but not yet invoiced for legal research. The above expenses were all reasonably necessary for the prosecution of this action, and are of the types typically charged to clients in an hourly fee arrangement.

I declare, under penalty of perjury, that the foregoing is true and correct.

Dated: October 31, 2025

Omar Jafri

Omar Jafri